# LAW SCHOOL COUNCIL RSO Funding Allocation Report

Meeting Date: October 11, 2022

Meeting Time: 7 pm Meeting Location: Email

LSC Members Present: Samantha Seigile, Emma Wells, Cristen Chandler, Cara Campbell, Leila Oberschall, Briana Bedoya, Keeley

Smith

Name of RSO	Event Information (Date, Location) Just the EVENT name	Food	Clothing/ Apparel	Contractual services	Travel	Expenses (i.e. Decorations, meeting space)	Total
Black Law Students Association	BLSA x SBA Bingo Night 11/03/2022 at 6 - 8 pm Room 101 Roberts Hall On Campus	\$571.75					\$571.75
Black Law Students Association	BLSA Nov Study Tables 11/12/2022 at 10:30 am - 1 pm	\$37					\$37

	I	I		I	
	2nd Floor Law Research Center On Campus				
FSU Trial Team	Interest Meeting  10/26/2022 at 12:30 pm  Roberts Hall Room TBD On Campus	\$219			\$410.33
Law Students Practicing Wellness	1L Advice Panel 11/08/2022 at 12:15 - 1:15 pm Roberts Hall Room 208 On Campus	\$121.97			\$121.97
Business Law Society	Day at the Rez  10/22/2022 at 12 - 5 pm  FSU Rez	\$459.75			\$459.75

	Lakefront Park Off Campus				
FSU Asian Pacific American Law Student Association	Rep Your Country at State  11/01/2022 at 5 - 7 pm  Law School Green On Campus	\$131			\$131
Association of Criminal Justice	ACJ and Trial Team: State Prosecutor Panel 11/03/2022 at 12:30 - 1:30 pm Roberts Hall Room 210 On Campus	\$292.94			\$292.94
OUTLaw	Rep Your Country at State 11/01/2022 at	\$37.16			\$37.16

	5 pm  Law School Green On Campus				
OUTLaw	OUTLaw Movie Night 11/10/2022 at 6 pm Roberts Hall Room TBD On Campus	\$340.78			\$340.78
Student Bar Association	First Generation Series #4: Advocacy Teams  11/10/2022 at 12:30 - 1:30 pm  Roberts Hall Room 208 On Campus	\$431.71			\$431.71
Student Bar Association	BLSA Bingo Night			\$220.73	\$220.73

	11/3/2022 at 5:30 - 6:30 pm Law School Rotunda On Campus				
Technology Entrepreneur- ship Club	Bitcoin is Property, Everything Else is Just a Bundle of Sticks  10/20/2022 at 3 pm  Roberts Hall Room 103 On Campus	\$204.50			\$204.50
Environment- al Law Society	Hispanic Law Society Association "Rep Your Country" Event 11/01/2022 at 5 - 7 pm Law School Green			\$80	\$80

	On Campus				
Environmental Law Society	SBA/ELS Picnic  11/05/2022 at 12 pm  FSU Reservation Off Campus	\$200			\$200
Hispanic Law Students Association	Rep Your Country at State 11/01/2022 at 5 - 7 pm Law School Green On Campus	\$			\$1,491.99
Total					\$5,031.61

# **Meeting Minutes**

**Organization:** BLSA

Date/time of event: November 3, 2022 at 6 - 8 pm

**Amount requested:** \$571.75

**Location:** Room 101 of Roberts Hall (On Campus)

#### Chick-fil-A

-Gallon Chick-fil-A Lemonade (\$12.00)

- -Gallon Freshly-Brewed Iced Tea Sweetened (\$6.25)
- -Large Hot Chick-n-Strips Tray (3 at \$96 a piece) (\$288)
- -Large Mac & Cheese Tray (2 at \$67.50) (\$135)
- -Large Fruit Tray (\$62.50)
- -Large Chocolate Chunk Cookie Tray (2 at \$34 a piece) (\$68)

# Purpose of funds: BLSA x SBA Bingo Night

The Black Law Students Association and the Student Bar Association are teaming up to put on a game night. This game night will be open to all FSU Law students. At the game night, students can enjoy free food and non-alcoholic beverages from Chick-Fil-A while they play Bingo. This event is designed to encourage FSU Law students to get to know their fellow classmates by engaging in a friendly competition of Bingo as well as converse with students outside of their sections and classes. In addition, students will have an opportunity to win prizes like t-shirts.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

# **Organization:** BLSA

Date/time of event: November 12, 2022 at 10:30 am - 1 pm

**Amount requested: \$37** 

Location: 2nd Floor Law Research Center at Law School (On Campus)

Chick-fil-A

-Large Chick-fil-A Chick-n-Minis Tray (\$37)

# Purpose of funds: BLSA Nov Study Tables

The Black Law Students Association is partnering with the Academic Fellows to put on this event. The purpose of this event is to encourage law students to study on weekends. To do so, BLSA and the Academic Fellows will provide food on the second floor of the law school's research center. In addition, first year law students can receive study help from second and third year students. This help can include general class study tips and/or exam preparation assistance. First year students are not required to receive help to get a free snack item. They can simply snack and study alone or with classmates.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** FSU Trial Team

Date/time of event: October 26, 2022 at 12:30 pm

**Amount requested: \$2199** 

Location: Roberts Hall Room TBD (On Campus)

Chick-fil-A

-Large Hot Chick-fil-A Nuggets Tray (\$96)

-Large Chick-fil-A Cool Wrap Tray (\$55)

-Large Chocolate Chunk Cookie Tray (\$34)

-Large Garden Salad Tray (\$34)

# Purpose of funds: Interest Meeting

This meeting will be for interested college of law students. It is open to anyone, but will provide information to those interested in trying out in January. Executive board members will speak about their experience on trial team. Our official tryouts are in January so we would like to hold this meeting before finals seasons start. This way students do not feel as stressed about taking the time to attend. Furthermore, we believe it will provide enough time for students to determine whether they wish to tryout for the team. We will hold the event over lunch so that as many students as possible are able to attend.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

## **Organization:** Law Students Practicing Wellness

**Date/time of event:** November 8, 2022 at 12:15 - 1:15 pm

**Amount requested:** \$121.97

Location: Roberts Hall Room 208 (On Campus)

**Publix** 

-Publix Deli Sub Selections Platter, Medium (2 at \$42.99 a piece) (\$85.98)

-Publix Deli veggie Sub platter Medium (\$35.99)

#### Purpose of funds: 1L Advice Panel

Law Students Practicing Wellness will be partnering with BLSA and PILSA (and possibly other organizations around campus) to host our annual 1L Advice Panel! We will be answering questions regarding how best to study for exams, tips for specific professors' exams, and outlining. We will also discuss IRAC and how to utilize that when taking exams. We hope to also provide sample/practice questions so that students are not going into their exams blind. The goal of this event is to calm many students nerves surrounding exams and their first semester of law school.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** Business Law Society

Date/time of event: October 22, 2022 at 12 - 5 pm

**Amount requested:** \$450.21

**Location:** FSU Rez Lakefront Park

#### Chick-fil-A

-Large Chilled Chick-fil-A Nuggets Tray (2 at \$96 a piece) (\$192)

- -Large Fruit Tray (2 at \$62.50) (\$125)
- -Large Chocolate Chunk Cookie Tray (2 at \$34 a piece) (\$68)
- -Gallon Chick-fil-A Lemonade (2 at \$12 a piece) (\$24)
- -Regular 96 oz Coffee (\$15.75)

#### **Publix**

- -Publix Napkins, 1-Ply (\$3.31)
- -Publix Plasticware, Everyday, Combo (\$10.79)
- -Dixie Paper Plates, 10 Inch Dinner Plate (\$8.41)

#### Purpose of funds: Day at the Rez

The event will be a day at the FSU Rez. The purpose is to provide a relaxing day where students can get out and enjoy the FSU Rez. It is both a good social event and a wellness event that allows students to de-stress from normal schoolrelated activities. The event will be a joint social that will have the Business Review also getting students out to relax. We hope to get as many law students out to the event as possible. Food and drinks will be provided for students. The food and drinks will be from Chick-fil-a and we plan to get some non-meat items so that everyone will be able to eat.

Seigile   Wells   Chandler   Campbell   Oberschall   Bedoya   Smith
---

Vote	Yay						
------	-----	-----	-----	-----	-----	-----	-----

**VOTE: YES** 

Notes: Publix amount rounded up to \$35 to account for sale items

**Organization:** APALSA

**Date/time of event:** November 1, 2022 at 5 - 7 pm

**Amount requested: \$131** 

**Location:** Law School Green (On Campus)

Chick-fil-A

-Medium Hot Chick-fil-A Nuggets tray (\$60.50)

-Small Garden Salad Tray (\$16)

-Small Mac & Cheese Tray (\$34.50)

#### **Publix**

-Chinet Crystal premium Disposable Plastic Cups, Clear, 9 oz, 50 count

-Mainstays Flameless LED Tealights, White, Set of 6

## Purpose of funds: Rep Your Country at State

APALSA is partnering with HILSA to celebrate diversity among law students. We will be providing food for the venue, and additionally one of our e-board members will be teaching dance from her culture. The dance involves the use of candles and plastic cups. The name of the dance is Pandanggo. Pandanggo is a Philippine folk dance which has become popular in the rural areas of the Philippines. The dance evolved from Fandango, a Spanish folk dance, which arrived in the Philippines during the Hispanic period.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**VOTE: YES** 

Notes: \$20 allotted for goods to be purchased from Publix

## **Organization:** ACJ

**Date/time of event:** November 3, 2022 at 12:30 - 1:30 pm

**Amount requested: \$292.94** 

**Location:** Roberts Hall Room 210 (On Campus)

#### **Publix**

-Boar's Head Sub Selections, Large (2 at \$69.99) (\$139.98)

-Publix Deli Garden Fresh Vegetable Platter, Large (\$34.99)

-Publix Deli Fresh Fruit Platter, Large (\$44.99)

-Bakery Cookie platter Medium 40-count (\$22.99)

-Boar's Head Wrap Variety, Medium (\$49.99)

#### Purpose of funds: ACJ and Trial Team: State Prosecutor Panel

Cohosted with FSU Law's Trial Team, this event will feature adjunct professor and state attorney Georgia Cappleman. During this event, Professor Cappleman will be discussing two topics: her career as a state attorney and how to be an effective trial attorney. ACJ and Trial Team will have a list of questions that range from asking her about the timeline of her career to some tips for students who want to pursue a career in trial advocacy. As their first event of the semester, Trial Team will introduce themselves and discuss upcoming interest meetings and Professor Cappleman will discuss her role as a trial team coach. Furthermore, the event will also focus on audience engagement. We will be allowing students to ask specific questions of Professor Cappleman about her career throughout the event.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

# **Organization:** OUTLaw

Date/time of event: November 1, 2022 at 5 pm

**Amount requested: \$37.16** 

**Location:** Law School Green (On Campus)

**Publix** 

-Buttercream Iced Cupcakes, 12-count (4 at \$9.29 a piece) (\$37.16)

## Purpose of funds: Rep Your Country at State

HLSA and the Office of Student Advancement will be hosting Rep Your Country at 'State! This event will occur during our law school's Diversity Week, October 31st-November 4th. Specifically, Rep Your Country at 'State will be held on November 1st, from 5pm-7pm at the law school green. This event will fall outside Hispanic Heritage Month, but we would like to highlight Hispanic and Latinx culture while celebrating different cultures and what makes each of us unique.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** OUTLaw

**Date/time of event:** November 10, 2022 at 6 pm

**Amount requested:** \$340.78

Location: Roberts Hall Room TBD (On Campus)

4Rivers

-Holiday Smokehouse 2x2 (\$309.80)

-Auto Gratuity (\$30.98)

# Purpose of funds: OUTLaw Movie Night

We are holding an event to show the classic LGBTQ+ film, "Brokeback Mountain," which is about two queer men finding love while working as seasonal sheep herding cowboys in the mountains of the American midwest between the 1960s and 1980s. Important themes in the film include period-appropriate homophobia and lack of legal protections for LGBTQ+ persons. We believe that this event will inspire interesting conversations about depictions of American LGBTQ+ history and the legal issues presented in those depictions, as well as how long and hard-fought for LGBTQ+ protections are currently very vulnerable. Because the event is at night, we will be providing a dinner of cowboy inspired BBQ food.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** SBA

**Date/time of event:** November 10, 2022 at 12:30 - 1:30 pm

**Amount requested:** \$431.71

Location: Roberts Hall Room 208 (On Campus)

Panera

-Hot & Cold Boxed Sandwiches (\$375.40)

-Tip (\$56.31)

Purpose of funds: First Generation Series #4: Advocacy Teams

The First Generation Series is back! Join us at 12:30 pm in Room 208 on September 22nd for a discussion on "Advocacy Teams" - an opportunity to learn about the different types of advocacy teams at the law school and how to prepare for Spring tryout season. We will discuss strategies for finding mentors in the legal field and balancing the competitive nature of law school with a collaborative attitude

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** SBA

**Date/time of event:** November 3, 2022 at 5:30 - 6:30 pm

**Amount requested: \$220.73** 

Location: Law School Rotunda (On Campus)

#### Amazon

-Clipboard Folder Padfolio (\$18.99)

- -Regal Games (\$24.99)
- -Will Give Legal Advice for Coffee Mug (\$14.95)
- -Lawyer Gifts (\$19.94)
- -Law Classroom Pillows (\$9.69)
- -Padfolio Clipboard Folder Portfolio (\$18.99)
- -Bingo Paper Game Cards (\$9.99)
- -Bingo Counting Chips (\$6.99)
- -It Depends Shirt (\$15.95)
- -Lawyer Dictionary Definition Shirt (\$19.99)
- -Lawyer Funny Friends Shirts (\$17.99)
- -Funny Lawyer Shirt (\$18.99)
- -Lawyer Shirt (\$15.99)

# **Purpose of funds:**

	Samantha Seigile	Emma Wells	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

## **Organization:** TEC

Date/time of event: October 20, 2022

**Amount requested: \$204.50** 

Location: Roberts Hall Room 103 (On Campus)

Chick-fil-A

-Large Nugget Tray (\$96)

-Small Cookie Tray (\$18)

-Large Fruit tray (\$62.50)

#### **Publix**

-Soda 12-pack (2 at \$8 a piece) (\$16)

-24 plates (3 at \$4 a piece) (\$12)

Purpose of funds: Bitcoin is Property, Everything Else is Just a Bundle of Sticks

Mr. Joe Walters, a local Tallahassee attorney and Bitcoin guru, presents his thesis that property ownership on the Bitcoin blockchain stands in contrast to traditional, black-letter notions of property law. He submits that ownership on the Bitcoin blockchain is all rights, all the time. In contrast, black-letter property law regards property ownership as a bundle of rights--or sticks--as opposed to complete, total ownership, due to externalities imposed on other property owners. Professor Ryan will provide commentary on traditional, black-letter property law during Mr. Walters's presentation.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** Environmental Law Society

Date/time of event: November 1, 2022 at 5 -7 pm

**Amount requested:** \$80

**Location:** Law School Green (On Campus)

Amazon

-Succulents (\$80)

Purpose of funds: Hispanic Law Society Association "Rep Your Country" Event

The Hispanic Law Society Association "Rep Your Country" Event will combine various student body organizations for one big event celebrating hispanic heritage and culture. There will be food, festivities, and tabling by various organizations to make this an all-inclusive law school event. The Environmental Law Society, as a part of this event, will be introducing people to our club and sharing about what our organization does, who we are, and upcoming events we plan on having. As a part of the event, our table is hoping to hand out mini succulents to those walking by.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**Organization:** Environmental Law Society

**Date/time of event:** November 5, 2022 at 12 pm

**Amount requested:** \$200 **Location:** FSU Reservation

#### **Publix**

-Publix Deli Sub Selections Medium

- -Sprite Lemon-Lime Fridge Pack Soda
- -Coca-Cola Coke Fridge Pack
- -Diet Coke Coke
- -Publix Deli Fresh Fruit Platter Large
- -Frito-Lay Flavor Mix

# Purpose of funds: SBA/ELS Picnic

The Environmental Law Society will be hosting a joint-picnic with Student Bar Association. The picnic will take place at the FSU Reservation on 11/5/22, and students will have the opportunity to go kayaking, paddle boarding, and more. The goal of the event is for members to get to know each other and to introduce members who don't know about the outdoor resources FSU has to offer. We also hope to have merch to provide to interested members. This event is also being used as a way for SBA and ELS members who have previously not met to get familiar with a new organization and foster environmental discussion between a greater group of people while in the great outdoors.

	Samantha Seigile	Emma Wells	Cristen Chandler	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay

**VOTE: YES Notes: Shirts** 

#### **Organization:** HLSA

**Date/time of event:** November 1, 2022 at 5 - 7pm

**Amount requested:** \$1,491.99

Location: Law School Green (On Campus)

#### **Publix**

-Publix Deli Old Fashioned Lemonade (10 at \$3.87 a piece) (\$38.70)

-Publix Plasticware, Everyday, Combo (\$10.79)

-Publix Napkins, 1-Ply (4 at \$3.31) (\$13.24)

-Publix Deli Sweet Iced Tea (5 at \$3.87) (\$19.35)

#### **Super Perros**

- -Pollo Arepa (30 at \$8.32 a piece) (\$249.60)
- -Side of Fried Yuca (20 at \$3.64 a piece) (\$72.80)
- -Arepa Carne (20 at \$8.79) (\$175.80)
- -Chicken Gordita (40 at \$6.23 a piece) (\$249.20)
- -Plain Arepa (20 at \$3.64 a piece) (\$72.80)
- -Empanada Colombiana (Chicken) (40 at \$3.12 a piece) (\$124.80)
- -Empanadas Argentina (Spinach) (40 at \$3.12 a piece) (\$124.80)
- -Empanada Colombiana (Beef) (40 at \$3.12 a piece) (\$124.80)

#### Amazon

- -World Flag banner (\$11.98)
- -World Flags Party Decorations (\$19.99)
- -International Flag Table cover (\$12.99)
- -Party Dimensions 300 Count Cutlery Combo Box, Clear (\$15.99)
- -Paper Plates (\$26.99)
- -Consummate 2 Set Latin American (\$19.95)
- -Tug of War Rope (\$14.90)

# Purpose of funds: Rep Your Country at State

In HLSA's inaugural year (2021), the organization hosted Rep Your Country at 'State for the first time. Rep Your Country at 'State is an event where all organizations and students in the law school come together to celebrate their cultures, diversity, and uniqueness. There is no other event at the law school like it, one that brings together different organizations to celebrate. HLSA has partnered with the Office of Student Advancement, SBA, BLSA, JLSA, CLS, SVLS, APALSA, OutLaw, and ELS. Every organization will have a table and an area to conduct some sort of activity. All students are welcomed to attend. The goal is to conduct a multicultural event where students can eat foods that represent different parts of the world and engage in cultural activities or games, like in the Hispanic community, playing dominoes.

	Samantha	Emma	Cristen	Cara	Leila	Briana	Keeley
	Seigile	Wells	Chandler	Campbell	Oberschall	Bedoya	Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay